


 

 

 

 



 

 

𝒕𝟎 𝒕𝟏 𝒕𝟐

𝒙(𝒎)

𝒕(𝒔)

𝑡0 𝑡1

𝑡1 𝑡2

 



 

 

 

 



 

𝑣 = 𝑑/𝑡

 

 𝑣 = 𝑑/𝑡



 

 





 

v =
d

t
  ⇒ t =

d

v
=

300 km

120 
 km

h

= 2,5 h = 𝟐 𝐡𝐞𝐮𝐫𝐞𝐬 𝐞𝐭 𝟑𝟎 𝐦𝐢𝐧𝐮𝐭𝐞𝐬

 

 

𝑣 = 108 
km

h
=

108000 m

3600 s
 =  

1080 m

36 s
=  30

m

s
  

 𝑣 =
𝑑

𝑡
  ⇒ 𝑡 =

𝑑

𝑣
=

18 m

30 
 𝑚

𝑠

= 𝟎, 𝟔 𝐬

 

 

(= 𝟓, 𝟓 𝒉)

 



𝒗 =
𝑑

𝑡
  ⇒ v =

715 km

5,5 h
= 𝟏𝟑𝟎

𝐤𝐦

𝐡

 

 𝒗 =
𝑑

𝑡
=

720 km

12 h 
=

60 km/h 

 

𝒗 =
𝑑

𝑡
=

720 km

10,5 h 
= 68,6 km/h

 

 𝟑𝟓𝟎 
𝐤𝐦

𝐡
=

350000 m

3600 s
=

3500 m

36 s
= 𝟗𝟕, 𝟐 

𝐦

𝐬

 𝒗 =
𝑑

𝑡
 ⇒ 𝑑 = 𝑣 ⋅ 𝑡 = 97,2

m

s
⋅ 45 s = 𝟒𝟑𝟕𝟓 𝐦 

 

 t0 t1, (3 − 0)𝑠 =  3 𝑠

(2 − 0,5)m = 1,5 m 𝒗 =
𝑑

𝑡
=

1,5 m

3 s
= 𝟎, 𝟓 

𝐦

𝐬

  t1 t2

𝒕𝟎 𝒕𝟏 𝒕𝟐

𝒙(𝒎)

𝒕(𝒔)



 

 𝑣 =
𝑑

𝑡
 ⇒ t =

d

v
=

36 km
90km

h

= 0,4 h = 0,4 ∗ 60 m = 24 m.

 

𝒗 =
𝑑

𝑡
⇒ 𝑑 = 𝑣 ⋅ 𝑡 = 60 

km

h
⋅ 1,333 h = 80 km

 

 𝑣 =
𝑑

𝑡
 ⇒ 𝑡aller =

𝑑

𝑣
=

50 km
20km

h

= 2,5 ℎ

𝑣 =
𝑑

𝑡
 ⇒ 𝑡retour =

𝑑

𝑣
=

50 km
30km

h

= 1,67 ℎ

4,17 ℎ = 4ℎ + 0,17ℎ = 4ℎ + 0,17 ⋅ 60 𝑚in = 4ℎ + 10,2 𝑚in = 4ℎ + 10 𝑚in +
0,2 𝑚in = 4ℎ + 10 𝑚in + 0,2 ⋅ 60𝑠 = 4ℎ + 10 𝑚in + 12𝑠 = 𝟒𝒉 𝟏𝟎 𝒎𝐢𝐧 𝟏𝟐𝒔

 

 (16ℎ 20 min 05 𝑠 − 14ℎ 00 𝑚𝑖𝑛 00𝑠) = 2ℎ 20 min 05 𝑠

𝟐𝒉 𝟐𝟎 𝐦𝐢𝐧 𝟎𝟓 𝒔 = 2 ⋅ 3600 𝑠 + 20 ⋅ 60 𝑠 + 5 𝑠 = 𝟖𝟒𝟎𝟓 𝒔

 

𝑣 =
𝑑

𝑡
 ⇒

42 195 m

8405 s
= 5,02 𝑚/𝑠 (= 5,02 ⋅

3600

1000

𝑘𝑚

ℎ
= 18,07 

𝑘𝑚

ℎ
)

 

(11350 − 10450) 𝑘𝑚 =  900 𝑘𝑚

𝑣 =
𝑑

𝑡
=

900 km

7,5 h
= 120

km

h



 

𝑘𝑚/ℎ

24 𝑚𝑖𝑛 = 24 ∗
1

60
 ℎ =  0,4 ℎ

𝑣 =
𝑑

𝑡
 ⇒ 𝑑 = 𝑣 ⋅ 𝑡 = 100 

 km

h
⋅ 0,4 h = 40 km

 

𝑡 = 3ℎ 𝑑 = 177 𝑘𝑚.

𝑣 =
𝑑

𝑡
=

177 𝑘𝑚

3 ℎ
= 59

km

h

 

𝑣 =
𝑑

𝑡
=

27 𝑚

36 𝑠
= 0,75

𝑚

𝑠

𝑣 =
𝑑

𝑡
=

27 𝑚

60 𝑠
= 0,45

𝑚

𝑠

 𝑣 = 0,6 𝑚/𝑠 𝑣 =
𝑑

𝑡
, 𝑡 =

𝑑

𝑣
=

9 m

0,6
m

s

= 15 𝑠

 



 72
𝑚

𝑠
= 72 ⋅

3600

1000

𝑘m

h
= 259,2

𝑘𝑚

ℎ
 

 𝑣 =
𝑑

𝑡 
⇒ t =

d

v
=

14,4 𝑘𝑚

259,2 
𝑘𝑚

ℎ

= 0.056 h = 0.056 ∗ 3600 s = 200 s = 3 min 20 𝑠  


